
Injector Support Service

Common/Frequent Failure Items
Pricing valid as of 5/7/2021 

Stellant Injector
Syringe Size Sensor Kit (new style) 090-101-U 772.26$                   

* Heater     "Heat Maintainer"    (New Style) 090-109-U 1,464.55$               
* Motor with encoder.    (A or B side) 090-111-1 1,330.59$               
* Dual Overlay Assembly 090-113-A 1,979.00$               

Switch, Power, Stellant 092-107 218.01$                   
Green cap, Switch, Power, Stellant 092-108 21.09$                     

* Head Interface Card (Dual)  093-106 898.49$                   
* Power Drive Card (Dual/Single) 093-107 552.31$                   
* 48V Power Supply 093-114-1 510.35$                   
* Head Cable, Stellant D 094-101-U-1 986.05$                   
* Assy, cable, head ext, 75 ft, single/dual 094-105-1 1,674.58$               

Dust cover, Switch, Power, Stellant/Solaris 082-115 21.90$                     

Solaris Injector
Top head cover for EP Assy 080-106-A 658.19$                   
Top head cover warning label 080-108 22.55$                     
Top head check for air label 080-109 20.04$                     
Bottom head cover for EP 080-110 672.35$                   

* Solaris Battery Pack               (one per order) 081-101-1-A 481.99$                   
Battery Back plate 081-108 90.84$                     
Gasket, Solaris, EMI 081-109 338.34$                   
Switch, Power, Solaris 082-114 186.48$                   
Dust cover, Switch, Power, Stellant/Solaris 082-115 21.90$                     
Green cap, Switch, Power, Solaris 082-116 21.11$                     
Solaris Syringe Interface (A) 083-101 484.61$                   
Solaris Syringe Interface (B) 083-102 484.61$                   
Head interconnect PCB 083-109 983.99$                   
Fiber Optic Cable, 135' 084-102-U1-135 850.00$                   
Cable, Solaris, Start 094-113 367.94$                   

Envision Service Parts Kit
Syringe Size Sensor 060-108 492.20$                   
Knuckle, Envision, Kit 060-116-A 299.72$                   
Cover, Envision, Head Top 060-124 88.42$                     
Keyboard, Envision, Head 060-125 611.36$                   
Overlay, Envision, Head 060-126 78.93$                     
Cover, Envision, Head, Bottom 060-127 232.26$                   
Strain Relief, Envision, Head cable 060-128 82.92$                     
Touch Screen, Envision 062-101 615.89$                   
LCD, Envision 062-105-1 773.37$                   
Cable, Envision, Head, 6' 064-101 1,212.12$               

* Core Exchange required

** Prices are subject to change without notice

WeAreISS.com | Call or Fax 888.667.1062 | Order@WeAreISS.com



Injector Support Service

Common/Frequent Failure Items
Pricing valid as of 5/7/2021 

Provis Injector
Head cover, Top,   Provis 050-123 520.92$                   
Head cover,  Bottom,   Provis 050-124 520.92$                   
Potentiometer, Provis, Plunger 050-126-1-A 659.94$                   
Potentiometer, Provis, Mechanical Stop 050-131-1-A 503.25$                   
M.S. MOTOR - ISS Assembly 050-133-1-A 273.32$                   
Heater,  Provis 050-149 1,389.94$               
PSI Jacket Lock Lever kit 050-173 54.48$                     
Microswitch, Mechanical Stop 050-176-1 40.04$                     
150/200ML  Provis Overlay 050-206 755.39$                   
Remote overlay for Provis 052-204 436.92$                   
Screw, Captive, Provis Ped door, side 051-170-1 9.50$                       
Screw, Captive, Provis Ped door, rear 051-171-1 35.00$                     
O-ring, Provis Ped door, rear captive screw 040-123-2 4.50$                       
End cap, Provis Pedestal, Atriculating arm 051-176 61.39$                     
Screw, Provis Pedestal, Atriculating arm end cap 051-177-1 5.00$                       
Nut, Provis Pedestal, Atriculating arm end cap 051-178-1 5.00$                       

* MSD   board 053-108-F 1,063.35$               
* PDCI   board 053-111-F 1,156.19$               
* DRCI   board 053-114-F 452.12$                   
* PPI   board      (Provis, 10K series) 053-121-F 1,278.37$               
* Universal Head Card 053-124-F 510.22$                   
* Head Cable, Provis    7' 054-102 1,187.62$               

Cable, Provis, Start, Coiled 054-204 553.61$                   
PSI Jacket Hex Ring 150mL 056-221 57.51$                     

Spectris Service Parts Kit
Drive Gear, Spectris 070-101 55.17$                     
C-clip, Drive Gear, Assy 070-106-1 7.90$                       
Potentiometer Kit, Spectris 070-108 1,230.08$               
Cover, Spectris, Head, Bottom 070-110 259.17$                   
Cover, Spectris, Head, Top 070-111 349.60$                   
Decal, Spectris, Top head cover 080-108 22.55$                     
Screw, non-ferrous, 8-32 x 3/4" 071-113 24.68$                     
Screw, non-ferrous, 8-32 x 5/8" 071-114 9.23$                       
Screw, non-ferrous, 6-32 x 1/2" 071-115 24.68$                     
Screw, non-ferrous, 8-32 x 1-1/2" 071-116 24.68$                     
Thumbscrew, Remote cable 071-117-1 5.40$                       

* Core Exchange required

** Prices are subject to change without notice

WeAreISS.com | Call or Fax 888.667.1062 | Order@WeAreISS.com



Injector Support Service

Common/Frequent Failure Items
Pricing valid as of 5/7/2021 Illumena Service Parts Kit

Heater, Illumena 110-107 1,320.00$               
Potentiometer, Illumena, Plunger 120-113-1 629.75$                   
Cover, Illumena, Head, Top 110-129 167.47$                   

* LCD Sub Assembly 112-109-F 2,395.63$               
Cable, Illumena, Start, Coiled 114-104 748.00$                   
Cable, Illumena, Head, 6' 114-113 3,648.70$               
Door hinge pin, Illumena 116-102-U-1 71.50$                     
Door sleeve bearing, Illumena 116-103 27.71$                     

CT9000 Service Parts Kit
* Heater, CT9000, 200mL 120-110 1,072.50$               
* Potentiometer, CT9000, Plunger 120-113-1 629.75$                   

Ground Strap, CT9000, Head 120-129 216.83$                   
* Cable, CT9000, Head, 5' 124-101-1 195.93$                   
* Cable, CT9000, Head, 100' 124-105-1 973.75$                   

Cam assembly, CT9000, 125ml 126-103 106.30$                   
Cam assembly, CT9000, 200mL 126-122 369.60$                   

OptiVantage Service Parts Kit
* LCD Sub Assembly 112-109-F 2,395.63$               
* Heater, OptiVantage, 200mL 120-110 1,072.50$               
* Cable, OptiVantage, Head, 5' 124-101-1 195.93$                   
* Cable, OptiVantage, Head, 100' 124-105-1 973.75$                   

Motor Knob, OptiVantage 130-101-F 239.16$                   
Touch overlay, Headcover 130-106-1 95.00$                     
Touchscreen, Head 130-106-2 165.44$                   

* Door, 125mL Prefill 136-102-F 882.00$                   
* Door, 200mL 136-103-F 891.00$                   

* Core Exchange required

** Prices are subject to change without notice

WeAreISS.com | Call or Fax 888.667.1062 | Order@WeAreISS.com


